


#include<stdio.h>

int main(void){
char A[1000];
int edo=1,i1=0; 3
printf(""\nlngrese NA®mero\n');
scanf('%s™,&A[1]);
while(edo!=12){
switch (edo){
case 1:
IT(ALI]=="+" | A[1]=="-"){
edo=2;
i++;

glse{ if(A[i]=="0"|A[i]=="1"|A[i]=="2"]

A[i]=="3"A[i]="4" |A[i]=="5"|A[i]=="6"]
ALT]=="7"|AL1]=="8" |AL1]=="9"){
§d0=3;
i++;

else edo=10;
¥
break;

case 2:
iT(ALiI]=="0" JA[i]=="1"|A[i]=="2"]

A[i]=="3"|A[i]=="4"|A[i]=="5"|A[i]=="6"]
ALi]=="7"|ALi]=="8"|ALi]=="9"){
gdo:3;
i++;

else edo=10;
break;

case 3:
ifF(ALiI]="0" |A[i]=="1"|A[i]=="2"]

ALi]1=="3"|A[i]=="4" |A[i]=="5"]A[i]=="6"|
ALi]="7"|A[1]=="8"|A[1]=="9"){
edo=3;
i++;

else{
if(ALI]=="_"){
edo=4;
i++;

else{
iIT(ALi]=="e"){
edo=5;
i++;

}



else edo=9;

}
¥
break;

case 4:

iF(A[i]=="0"|A[i]=="1"|A[i]=="2"]

A[i]=="3"|A[i]="4" |A[i]=="5"|A[i]=="6"]
ALI]=="7"|AL1]=="8" |ALi]=="9"){
edo=4;
i++;

else{
iIT(ALi]=="e"){
edo=5;
i++;

else{
if(A[i]==".") edo=10;
else edo=8;
s
}
break;
case 5:
iIT(ALT]=="+"|AL[1]=="-"){
edo=6;
i++;

else{
iITA[T]="0" JAL[i]=="1"|A[i]=="2"]

ALi]=="3"|A[i]=="4"|A[i]=="5"|A[i]=="6"]
ALi]=="7"|ALi]=="8"|A[i]=="9"){
gdo:7;
i++;

else edo=10;
%reak;
case 6:
iTA[T]="0"A[i]=="1"|A[i]=="2"]
A[i]=="3"|A[i]=="4" |A[i]=="5" |A[i]=="6"]
ALi1=="7"|ALi]1=="8"|ALi]=="9"){
§d0=7;
i++;

else edo=10;
break;
case 7:
if(ALi]=="."|A[i]=="e") edo=10;
else{
ifF(ALI]=="0" |A[i]=="1"|A[i]=="2"]



ALi1=="3"|A[i]=="4" |A[i]=="5"|A[i]=="6"|
ALi]=="7"|ALi]=="8" |A[i]=="9"){
edo=7;
i++;

else edo=11;
}
break;
case 8: 5
printfF(""Es un nA°mero fraccional\n\n™);
edo=12;
break;
case 9: 3
printf(""Es un nA®mero entero\n\n');
edo=12;
break;
case 10: )
printf(""No es un nA°mero\n\n'");
edo=12;
break;
case 11: y 5 3
printfF(""Es un nA°mero en notaciA3n cientA-
Ffica\n\n"");
edo=12;
break;
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